3 s
upuenyYia 1.2

1. 1, 2, 6 24, 120, 720, 5040
2 1,120, 252, 120, 1

3 84, 126, 210

9 x = Lv=1 2z =2

5 s
uuudnYia 1.3

1 gq=5 1=15 112 g =17, r=0
13 q= -3, =7 114 g = -6, 1 = 2
21 2 122 -4
126 -3

5 0 M a€z, - ™ ag?Z

L /
uuudnYa 1.4

. 1.1 (502)

2. (2112},

3 3.1 (12),,

4. (328),,

5. (11111000000)~

6. 6.1 (745 = (IE9),
7. 7.1 (010101111),

8 (8F5),, (T4E)

9. (101010111100110111101111),, (H1OITEOT1I 1101011001 1101101),,
(200110100000101 1),
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L. (7}
uuuHnta 2.1

1. 11 5
13 6
1.5 11
3. 17 = 357(-7)+629%4)
4. 17 = -357(7)+629%4)
6. 17 = I8IHT71)+ 358(-36)
18. 181 2
18.3 99
185 7

4 ar
nuvHnYia 2.2
I. 1.113209

1.3 8671

2. 2.1 2-3-5-7-11-13+17-19-23-29
2.3 4]”-47“-79'”_83|||_]O]mm

6. 30

7. 71143

Sy o
nvulnia 2.4

1.2 111
14 |

16 2
18.2 5
18.4 3
18.6 1001
1.2 13209

2.2 2%.3.57.7.11%13

1. 11 x = 33+5n, v = -11-2n 1.2 x = ~300+13n,y =
13 x = 21+ 14n, v = ~-21-2in | .4 no solution
I . 5 x=889+199n, v = —633-1402n

2 . x= ~101+3In
v = 6-13n

3. X = 13—-49n

v = 163-999n
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4, 41 8 4, 5, 9, (2 ¥
43 (2, 7)
45 no solution

47 no solution

5 17, 23

=5 7]
HUUHNYR 3.1

Lo 1,200
4. 41 9

43 0

45 4

9. 91 4 WIAM
9.3, 4 WIAM

Il . n = +1l(mod 6)

18 5

9 |

200 |
2. -1
23 -1

=5 U
HuUHNYn 3.2

. LI 3
13 7
15 812
17 5

3 31 13
33 5

MA 225

4.2 (6, 3)
4.4 (2, 5)

46 no solution

.2 1,39 27, 37, 111, 99

42 9
44 12
\

46
92 6 UTAM

12 2,58

| .4 no solution
16 159

18 45 %

32 7

34 16
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uuvelntia 3.3

I. x = 52mod 105)
2 x = 4944(mod 9889)

1 X 785(mod 1122)

4. x = 653(mod 770)
5 ¥ =99mod 210)
6. a = 62

7. a = 548

§ y=28mod30)

9. o solution

10, y=23mod 30)
[I. x = 44(mod 840)
12, x = |()O( mod 2 |O)

=4, (Y]
nuvdnyia 3.4

Lo 2
13 2"
2 21 &
23 s
M3 3 ad M3 9 hiaea

33 DIAINNN

“

3 31

4 41 i
43 i

gy o
uvuenyia 3.5

8 81 x = 9mod 17)

8 . 3 x=1l6(mod3

180

1.2
1.4
22
2.4
32
34
42
44

84

aedInan

M3 3 hinwd
1o

it

. 2 x=17(mod 19)

X = 10(mod 1 1)

MA 225



£5 (¥}
uwuvelntia 3.6

1. 1.1 40 1.2 128

1.3 720 1.4 5760

1.6 1152 1.7 9600
3. 31 1, 2 3.2 3,46

3.3 no selution 3.4 7.9 14 uny 18

3.5 no solution 3.6 35,39, 45, 52, 56, 70, 72, 78, 84, 90
4. 411, 5 42 1,2,4,5 7,8

431, 3, 7,9 44 I, 3,5 9, 1. 13

451, 3,5, 7,9 11,13, 15 46 1,2,..,16

5. ]1-',-—'53512“1_]

9(mod 14) I 1.2 x = 13(mod [5)

._.

—

L—
>
(]

Il .3 x = 7(mod!16)

= Y
nuudavia 3.7

1. | 2,6

2. 1,3

3. 1,6,11,28, 33.38

4.  no solution

5. 1,3, 5

6. I, 3.5 14,16, 27, 122, 133, 135
9. no solution

11. 7.15,16, 24

12. 15

13.  no solution

14. 23
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b
€

HUUNNHA 4.1

. 1.1 4 1.2 4
1.3 6
3. 3.1 3 3.2 2,3
3.3 3,7 3.4 2,6,7,11
3.5 3,5 3.6 5, 1l
5. 4 3N
spvknda 4.2
1. 4, 10,22
2. 2.1 2 2.2 4
2.3 8 2.4 6
2.5 12 2.6 22
3. 3.1 2 3.2 2
3.33 3.4 2
4. 4.1 2 4.2 2
4.3 2 4.4 3 L
5. 31 5 5.2 5
5.3 15 5.4 13
6. 7,13, 17, 19
upulnta 4.3
I. ind,5 = 9, ind,5 = 9, ind;5 = 3, ind,,5 = 3
3. 3.1 x = 7{mod 11) 3.2 x=5, 6(mod 11
3.3 no solution
4. ' 4.1 x=6,7, 10, 1 I(mod 17) 4.2 x = 5(mod 17)
4.3 x=3,5, 6,7, 10,11, 12, 14(mod 17)4.4 X = 1(mod 16)
5. 5.1 x = 9(mod 23) 5.2 x=9, I14mod 23)
5.3 x =7, 18(mod23) 5.4 no solution
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7. a =
8. b =
9 x =
% X =

MA 225

= 2,5 6(mod 13)

8,9, 20, 21(mod 29)
10, 16, 57, 90, 99, 115, 131, 134, 145, 149, 152(mod 156)
13(mod 23) HHARAY
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